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HTE (&) 120 KZL24F 20
INFF 32 /IN1E 100
e
ININS(T 26 1,/218 100
Tup 11 1,/1618 | 200
EDFENE 25 /IN1E 100
FLULZE 620 1A 5
FFhFv TR 70 14% 90
T—ELR 310 1 NHi 20
IE "
Ha—FvY 240 1 AR 20
¥ | Na—t—FuY 190 1 AR 20
o | Rv7a—r 95 1A 30
(u]u]
E.a7337 440 KIC1HR 6
A2 ZXAhO—kb— 410 NEL1FR 4
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=BE(mg)| %= (2) ‘E“‘ﬁ‘%‘ ‘190‘ ‘290‘ ‘30‘0‘ (me)
x| X 200 |1/2#v7| 70 203
B |4tz 370 1AH 50 185
BRELE 230 1AB | 100 230
A 340 1ABT | 60 204
FbbHHRA 180 1B | 100 180
O—2zkE—7 200 1AB | 100 200
HeLN— 330 1ABT | 60 198
BL/N— 300 1ABT | 60 180
FBIIH 220 R2gIn 80 176
g | FLRNL 340 24 40 136
h1=<BLbLUETE 2300 1 A8 30 Y B
53U bLATFL 910 f1R | 50 W 455
IE-IBIETFL 300 147 150 W 450
WhBZETFL 1200 1ABT | 30 360
PI<BEVHLEFL 1500 1ABT | 20 300
VoEE 300 X160h | 100 300
R 290 1AB | 100 290
bhEE 350 5~6E | 80 280
PO 230 x50 | 100 [ 230
ELed 690 5~6E | 40 276
A< 250 181 | 100 250
Ly 240 1R 100 240
#5278 210 x3@ | o0 [N s0
$REF 290 F1th 80 232
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HH AR (me)| BRE | (9) |2AE 10 200 30 (me)
LLx® (£FL) 430 2R 50 215
LABUBIETFL 260 141 80 208
BIATFU (HETFATY) 660 DN 30 198
B 310 12 60 186
SLETER 300 18 60
¥ LSTFL (F22)%) 860 PN 20
LIEZ D 270 12 60
LS 530 1AHT 30
152 390 17208 | 40
=SHEBE 880 11 20
R | rmoE 110 1/2T | 150
FhbEE 200 K118 60
XE (%) 580 K&tk | 20
g3 49 Qv 718k | 200
HE|XME 190 A 50
5p 180 11 50
BBl 1000 K&EC4RR | 20 200
Bl |4y 93 Iy 7R | 200 186
3 | 7AE2F-X 730 19h 20
-k 100 1AHT 100
FART)— L 120 118 150 180
I .
INTFzaL—tb 240 14% 50
1F
_ | 7EE 500 1 AR 20
(u]u]
KFRFyT X 100 1% 90
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g8 2 D =B =
=282(mg)| HRE () |=8E | 3.‘0 5.‘0 (me)
F | F-h3-0 3.9 1AHI 50 2.0
B | 23®7) 0.8 ES 180 1.4
L/ — 13.0 1B | 60 W 78
BL/N— 9.0 IPN:I] 60 5.4
251 4.3 1 AR 100 4.3
BOME 5.1 1T AR 60 3.1
4B 45 1 AR 60 27
MEHHKRA 2.7 1T AR 100 2.7
s HLN— 4.0 1 AR 60 2.4
FEELA 25 PN 100 2.5
HIN@EE 18.8 1 AR 20 3.8
3% 5.7 1 AR 60 3.4
noOBEE 6.0 1 AR 50 3.0
LU& 5.3 1AHI 50 27
HHHU 5.0 1 AR 50 25
* BEE 5.0 1 AR 50 25
53HVbLALTFL 4.5 F1E 50 2.3
ELsS 5.6 5~6F 40 2.2
FoEH 4.4 1 AR 50 2.2
EIEECH 2.0 1 ARl 100 2.0
AWM ITL— 4.0 1AHI 50 2.0
HOH 2.6 K1§In | 100 2.6
P BVbLETL 18.0 5~6FE 10 1.8
A 1.3 K1{lh 100 1.3
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Fuvbl 1.8 1B 60
%340 2.1 1 AR 50
23 1.2 ay71# | 200
REEE 1.6 1./2T 150
rE 9.4 REU2#4F | 20
E 1 EI=17 3.3 17897 50
=SHEE 6.8 14 20
EB 2.6 & 50
EBAIL 1.9 1A 200
FWIAE 3.1 1 AR 70
gy 2.9 PG 70
INAZE 2.8 PG 70
. PRE 2.1 PN} 70
I>hAE 2.0 PN} 70
&% 1.7 IPN:I] 70
Z58 23 PG 50
WATAE (82) 6.0 12~131@ | 20
HTE (%) 5.4 KSC2# | 20
FLOLZ 55.0 PG 5
= KyTa—> 4.3 PG 30
¥ | IvoFaaL—h 2.4 = 50
= HhYa—FvY 4.8 1 ARl 20
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=282(mg)| HRE () |=8E | 3.‘0 5.‘0 (me)
X | vHOz X5 Tg 1.5 1 AR 100 1.5
B | FLzi 15 ES 100 15
LD 1=FRH 5.7 IPN:I] 100 5.7
R O—ZFRHA 5.6 1 AR 100 5.6
HH)TO—-ZFKA 4.9 1 AR 100 4.9
FARHHFA 4.4 1T AR 100 4.4
4HWEL 4.2 1 AR 100 4.2
&L /R— 6.9 1T AR 60 4.1
s HLN— 3.8 1 AR 60 2.3
BL/N— 3.3 IPN:I] 60 2.0
EhE 13.2 5~6f8 | 60 W7o
POBIEE 11.8 1 AR 30 35
HinHIC 37 1AH 90 3.3
+427H 27 3@ 90 2.4
Dr={BULHUEEY 7.9 1 AR 30 2.4
® ThODIKEES 4.7 IPN:[] 50 2.4
nr<BLbLETFL 7.2 1AH 30 2.2
38 1.5 1/28 40 0.6
&) 1.9 1B 100 1.9
VW EZ 3.1 3~47K 60 1.9
WALZETFL 5.9 1 AR 30 1.8
aXZ 2.2 21& 80 1.8
DL EHE LR 2.7 15 60 1.6
5%HVbLALTFL 2.7 F1E 60 1.6
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Yl ARY o1V 6.6 PN} 20
= EJi 1.6 LB 80
=52 3.1 12 40
ELED 29 5~6F 40
PELBATNT 27 1./288 40
= wi{BLbLAATFL 3.5 PN 30
HAZIED 2.2 1PN 40
SEEFEKE 1.7 1 AR 50
L 2.2 1 ARl 30
ULk 4.2 & 1{E 18
IZLF—Z 4.6 141h 20
43 0.4 Jv71HR | 200
Frid—F—X 4.0 14n 20
e R BEAS 2L 3.9 AEU4HR | 20
EHAHIL 1.7 1A 200
= Z58 1.4 1 AR 50
AR 1.4 1 AR 50
=3na 1.3 IPNCE 50
TRHR 0.7 1/218 100
[B | Ea7337 7.0 ZNIAEN 10
i N
oo | BRE 6.3 1AHI 5 0.3
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K(KXK) 0.27 1/2hy7 | 70 0.19
F | 20 0.10 ES 180 0.18
K (EFHEXK) 0.22 1/2hy7| 70 0.15
KHEEXK) 0.22 1/2hvy7| 70 0.15
B | 5—r3-n 0.28 1A% | 50 0.14
Z50h 0.12 248 el
HL - 5.30 1B | 50 W 265
L /N— 0.99 PN 50
»b 0.36 1AH0 80
S0 0.42 IPN:[] 50
HOPHA 0.26 1A 80
* P ik 0.41 1T AR 50
BLI/N— 0.32 3~47AK 50
Y hd 2.96 1AET | 60 .78
LeZ 3.46 1AH0 30
[Fr=BL 3.42 5~6% | 30
hi=HIc 1.10 1A %
BEHH 2.30 1 AR 30
R VRS 1.91 1 ARG 30
ENE 0.89 5~68 | 60
T35 0.34 1 A8 5
HAIIED 1.00 1 AR 40
KEAV 0.61 2R 60
FBIENIC 0.43 1A 80
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EBIED K EE T 0.58 IPNCE 50 0.29

-V 0.39 PN} 60
F | YL 0.73 [P 30

SLhEED 1.08 PG 20

FLAD 5.17 1 AR 3
R | x3zm= 0.61 1%y7 50 0.31

KIS E 0.15 1./2T 150

PN 0.98 KEC2#F | 20

E2HAHZL 0.18 1A 200 0.36

215 0.21 124 | 100

AlEE 0.41 1 AR 50
e Z58 0.39 IPNC 50

KEHPL 0.12 PN} 70
— II>hAE 0.11 PG 70

FLeng 0.55 IPN:! 10

EDFEND 0.18 INE:S 100

EODEVIIN 0.32 PG 30

TZINF Y 1.95 1 ARl 20 0.39

HhYa—FvY 1.89 1 AR 20 0.38
& .

IV FaaL—h 0.55 14% 50 0.28
¥ | 7—EK 1.35 1PN 20 0.27
o | BR 0.51 5~61@ 50 0.26
AR

EX&F+ 1.15 1 AHI 20

RFhFyTZ 0.21 14 90
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Zidh (TK) 1.04 ZRIHE | 150
Z1E (0T) 0.38 ES 180
F | b5 0.81 218 70
Zidh (FEEK) 0.35 ZWIAR | 150
FAEIN 0.87 214 60
B | Fuoen 0.50 1ABT | 100
Z5HA-VDREE 0.44 248 100
Bbbs 0.48 218 70
L /N— 0.33 1AH 60
brIEHHE 2.29 IPN:[] 40
HE)EFEKE 1.37 1 AR 50
HE)DLIEE 0.94 180 40
HEL 1.04 2R 30
x | VPR 4.90 PN 70
2%H\WhUHEEY) 0.12 1A\ 30
EHE 0.38 5~61@ 60
HHBE 0.63 1A 30
Albul 0.22 1 AR 80
R | Lia 1.50 1B |50
ELs> 0.38 5~6 40
BETE 0.60 12T | 150
EHEE 4.50 & 20
PAbEE 1.30 A 1E 60
AIREE 0.38 12T | 150
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. MEbmE 1.00 17%9% 50
£ 0.85 & 50
* x=E 1.90 KEU2AR | 20
MEAED 3.60 1 AHi 70 W 252
FLeLE 25.00 1 A 10 W 250
FOANTY 1.32 PN 70
BLIE 1.05 PN 70
) 1.24 DN 50
5 | OB 0.96 IPN:I| 50
EShAE (4K) 0.85 IPN:I| 50
nAZA 0.78 1AH0 50
ey iha 0.68 1AB0 50
E5632L 0.00 1A | 200
R | voya— 0.60 PN 50
EID0FND 0.44 INK(E 100
INAFy T 0.76 /4900 | 150
HE 0.50 18 150
FLA 1.48 F11E 40
INAF T IVE 1.58 1 A8 80 W 126
<H) 3.27 1B | 50 W 1 64
B | A—thFuy 5.24 PN 20
¥ | Ne—E-FvY 2.81 PG 20
m | 7—ELR 2.63 1PN 20
EIEE 1.56 1AB0 30
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B & = [00e% = 5 =
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T4TI5 (T 650 1B | 60 W 300
BL/N— 370 1ART | 60 222
B 310 1ABT | 60 186
BRL/N— 250 1AE | 60 150
PRE 370 1ART | 60 222
HLN— 240 1AB | 60 144
BET 120 1AE | 100 120
BOOEME 98 PN 100 98
g | TEESmEHfE 98 1ABT | 100 98
FiBO—RBEH (T 89 1ABT | 100 89
YT O— R G & 87 1ABT | 100 87
BORERE 79 1AE | 100 79
W T B 980 1,28 | 40 W 302
VW (%) 270 1% | so [ 26
BAIHIED 560 1ART | 40 224
= FHEBPRL 120 12 150 180

bhaE 210 5~6R | 80 168
TLz 510 1AE | 30 153
N 480 1AE | 30 144
LsZ 360 1ABT | 40 144
52 350 1,288 | 40 140
SLE S 230 18 60 138
BHEILA 230 H0N | 60 138
-z 150 17 80 120
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AXA (%) 140 21H 80
HTDZ 370 1PN 30
EHHU 71 1B 150
LEE 71 1E 150
x| B 100 190h 100
£33 290 2~31@ 30
(BELV 170 2R 50
ST (%) 140 1B 60
ECsD 210 5~6F 40
R | xy 100 Jer | 8o
1330\ 240 5~64F 30
WHESE 230 KEC14F | 20
I 1400 1@ 18
1) 420 1@ !
EﬂﬁéﬂﬂEl
>¢550 470 2~3(@ 30
Bl | 7nexF—x 78 215 40
KR | ~3x—X (5P%) 150 KEC1HR | 14
==L 250 1@ 50
NN, 130 118 80
E |
JAVAY= b4 170 & 60
i
HAFS 160 190h 60
An
Sa—hr—% 150 1490h 60
HAZ—RT)> 140 118 60
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F—h3I—L 9.4 1ABT | 50 1.6 SN 47
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F | WO 2.0 1% 180 0.0 N 36
SAEI 5.6 2y 60 | 1.2 22N .+
THOZ RN T4 2.7 1Agt | 100 |0.7 NSIONN 2.7
B | 23pa-006% 25 248 100 |0.7 EIN 2.5
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* (ZK) 3.0 17207 70 |05 EGHN 2.1
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x
- xE 17.1 xtotk | 20 [0S 3.5
R3EmE 6.7 1wy |50 (12 N2 4
56520 9.0 iz | 200 [ 1.2 NEER T 1s0
HUINE 5.6 1Ag | 70 |11 NS .0
DAV ES (&) 30.1 1 AR 10 (0.7 2SI 3.0
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RO AKE 4.0 1Ag | 70 |os NS 2.8
o | FETNY 5.5 4~5 | 50 (0.7 2.
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AEI—> 2.8 12097 70 [[HNNGN 1.9
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- T—ERT IR 11.9 1Ag | 20 |[ECHESEN 2.4

x| e [
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